¥ +Ax+24 7F (x +a)(x+ b) 2 AFES Aot & of, A4

9gre Autelz})

@ -25 @ -14 ® 10 @ 14 ®)25

~&B

¥ +Ax+24=(x+a)(x+b) A=a+b,24=ab
a=1,b=24°1Ha+b=25
a=2,b=12°"a+b=14
a=3,b=8°"a+b=11
a=4,b=6°Ha+b=10

ek A4 42) HAGLL 2501,




ohS olRHES FolA Hdigte] M A 2L

D y=2x2 @ y=x*4+2x+1

@ y=2x2+4x+7 @ y=17x*-2

@y:%(x+3)2—5

S5
@ y=2x*: =42 00|tk
Q@y=x+2x+1y=(x+1)%: H£F20 o|t}.
@y=224+4x+7=y=2x+1)?+5: F£gL2 5 olt}.
@y:7ﬁ—2:§%ﬁ%—2NQ.

®y=—< @+$ -5 H&g2 -5




3.

ohe A F 81 UL ALY (Fa>0

@ 0 9 AlE2 1 7ol
@)a o AL Va oIt

® AFEat vacolth
@ x? =q oW x & x+a otk
® AFT a2 2 a0l

H




VED+ T2+ = = a5 VEEx /2 x VIS = bVG @ o ax
o gre?

® 4 @9 ® 16 @ 25 ® 36

B ‘

2«/‘+£ 4;/‘ 10«/5+;/5+4«/5:155«/5:3\,5

6 25 6
. — 1: — = 1:
\/25><\/gx 8 \/10x5><8 36
.b_

Laxb=9




=35 A Fpog rg AN A BC. D E
e oo mtEA dZ2H 0 5

AL

P=V3+V5,¢g=V3-2,r=+5+2

O A=p, B=g, C=r @A:q,B:p,C:r

® A=q, B=p, D=r @ B=p, C=gq D=r

®B=r, C=p, D=g

B

1) p, g, r & & TAE WA 23

(1 p-g=V3+ \/5_)—(‘/——2)—\/_+2>0.'.p>51
2)g-r=V3-2-(V5+2)=V3-V5-4<0..r>gq
B p-r=V3+V5-(V6+2)=V3-2<0.7r>p

“r>p>gq
At

olct
WA - &, p i B of $1F

i) g= V3-2<0 008 424 0 Hr} 9] G A of

r=VE+2914 VB ME2< VE<3olBRa<r<5




1 2
X

5 1

X +—2+2:16
X

1
x2+—2:16—2:14
X

1\? 1
X it

1
x—-=+VI2=1+23
X




— 32 o] 2 nE BAYO| Ao} (5,-2) 7t HES
Wol 55t 4 (k—3) & Ak, ol w45k of g W Fat

y = —3x2 __ _‘!:_Z’IZ—]_,] _4._\1.7]. (5 2) 7]. E]H—_E hiE| oﬂo] ﬁ}l?j
y=-3(x-5)2-20]1

y=-3(x-52-27t4 (k,-3) = AUY2Z fA5}H -3 =
—3(k—5)2 -2, 3k? — 30k + 74 = 0 °]c}.

&5k O] 7ol F2 3k2-30k+74 =09 F T FA Fom=
74

= o,




A A (-1, =5), (0, 5), (2 13) & ALt ola}tse] Tejmo
BAH HE} (p. q) W p-g 9 AL

® 1 @5 @5 @-1 ©G)-nu

ojzFto] Mgy =ax? + bx+c 22l EOH
(-1,-5) 8 AUEZ -5=a-b+5

0,5)2 AYE2 5=

(2,13) € AYE2 13=4a+2b+5
La=-2,b=8,c=5

w2ha] Foj3 o] afet4=of A
y=-2x2+8x+5=-2(x-2)2+13°|B=2
EAY ] HEE (2, 13) o|BZ
p-gq=-11°*




